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Joint cost: are the costs of a production process that yields multiple products
simultaneously.

Jalg ey B asia cladiia il AN LYY Ales GO A 1A idial) A4LSE)

Split off point: is the juncture in a joint production process when two or more
products become separately identifiable.
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Separable costs: are all costs — manufacturing, marketing, distribution, and so

on — incurred beyond the split off point are assignable to each of the specific
products identified at the split off point or beyond the split off point.
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Main product: when a Joint production process yields one product with high

total sale value compared with total sales values of other products of the
process, that product is called a main product.
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Joint product: When a Joint production process yields two or more products

with high total sales
products, if any, those products are called Joint products.
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By products: The products of a Joint production process that have low total
sales values compared with the total sales values of the main product or of Joint

products are called byproduct.
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Why allocate joint costs?

1- Computation of inventor able costs of goods sold for financial accounting
purposes and reports for income tax authorities.

2- Computation of inventor able costs of goods sold for internal reporting
purposes (such reports are used in division — profitability analysis, and
they affect evaluation of division managers performance).
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Approaches to Allocating joint costs.

Two Approaches are used to allocate joint costs as follows.

Approach 1\ Allocate joint costs using market- based data such
as revenues as follows:

1-Sales value at splitoff method

2-Net realizable value (NRV) method.

3-Constant gross- margin percentage NRV method.

In this chapter the two methods (1&2) will be illustrated

Approach 2\ Allocate joint costs using physical measures,

such as the weight, quantity (physical units), or volume of
the joint products.
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Example 1\ (sales value at split off method):

Farmer's dairy purchases row milk from individual farms and processes
it until the split off point, when tow products- cream and liquid skim.
These two products are sold to an independent company, which markets
and distributes them to supermarkets and other retail outlets. In may
2012, farmers dairy processes 110000 gallons of raw milk. During
processing, 10000 gallons are lost due to evaporation and spillage,

yielding 25000 gallons of cream and 75000 gallons of liquid skim.
Summary data follow:
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Joint costs (costs of 110000 gallons $400000
row milk and processing to split off

point)
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Liquid
cream

skim
Beginning inventory (gallons) 3!l Js 0 0
z<Y Production (gallons) 25000 75000
<lasiall Sales (gallons) 20000 30000
32l AIEnding inventory (gallons) 5000 45000
&l 2w Selling price per gallon $8 $4

Under the sales value at splitoff method, allocates joint costs to joint
products produced during the accounting period on the basis of the
relative total sales value at the splitoff point. The following schedule
shows how joint costs (400000S) are allocated to individual products to
calculate the cost per gallon of cream and liquid skim using the sales
value at splitoff method.
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Product Product Selling Sales Weighting Joint Cost
el unit price  value Al cost per unit
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Cream 25000 $8 200000 %40 160000 6.4
Liquid 75000 $4 300000 %60 240000 3.2
skim
total 500000 %100 400000

The following income statement using sales value at splitoff method:
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Revenues (20000 gallonsx 85 Per gallon 160000 120000 280000
30000 gallons x4$ Per gallon
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de Ll deliad) 481 Cost of goods sold
Production costs (joint costs) 160000 240000 400000
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Deduct: ending inventory (5000 gallons - - 176000
X6.40 per gallon; 45000 gallons %3.20
per gallon)
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Example 2 (Net realizable value (NRV) method):
Assume the same data as in example 1 except that both cream and
liguid skim can be processed further:
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Cream — buttercream: 25000 gallons of cream are further
processed to yield 20000 gallons of buttercream at additional
processing costs of 2800005. Buttercream, which sells for 25$ per
gallon, is used in the manufacture of butter- based products.
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Liquid skim =™ condensed milk: 75000 gallons of liquid skim are
further processed to yield 50000 gallons of condensed milk at
additional processing costs of 520000S. Condensed milk sells for
225 per gallon.
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Sales during may 2012 are 12000 gallons of buttercream and
45000 gallons of condensed milk summary data follow:
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Beginning inventory 0
(gallons)

gallons zialProduct 25000 75000 20000 [50000
gallons <laualiSales 12000
Ending inv. 0 0 8000
Selling price &) 2« 8 4 25
per gallon




The net realizable value (NRV) method allocates joint costs to joint
products produced during the accounting period on the basis of
their relative NRV- final sales value minus separable costs. This
method is using in cases that is products are processed beyond
the split off point to bring them to a marketable form or to
increase their value above their selling price at the split off point.
The following schedule shows how joint costs (400000S) are
allocated to individual products to calculate the cost per gallon of
cream and liquid skim using net realizable value (NRV) method:
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Butt. 20000 25 500000 280000 220000 0.275 110000
Cond. 50000 22 1100000 520000 580000 0.725 290000 _

total 1600000 800000 %100 a00000 |
The following income statement using net realizable value (NRV) method:

Butte Condon Total

Revenues (12000 gallons x25$ per
gallon

45000 gallons % 22per gallon
Cost of goods sold

Joint costs (0.275%4000005;
0.725x%400000$)

300000 990000 1290000

J

110000 290000 400000

Separable costs 280000 520000 800000
Production costs 390000 810000 1200000
Deduct ending inventory (800 156000 81000 237000

gallonsx19.50$ per gallon; 5000 gallons
x 16.20S per gallon)

Cost of goods sold 234000 729000 963000
Gross margin 66000 261000 327000




Example 3 (physical measures method):
The physical -measures method allocates joint costs to joint
products produced during the accounting period on the basis of a
comparable physical measure, such as the relative weight,
guantity, or volume at the split off point.
In example 1, the 400000S joint costs produced 25000 gallons of
cream and 75000 gallons of liquid skim. Using the number of
gallons produced as the physical measure,
The following schedule shows how joint costs are allocated to
individual products to calculate the cost per gallon of cream and
liquid skim.
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Cream 25000 0.25 100000

liquid 75000 0.75 300000 4
100000 %100 400000 I

The following income statement using the physical measure method:

Revenues (20000 gallonsx 8$ per 160000 120000
gallon; 30000 gallonsx 4$ per gallon)

Cost of goods sold:

Production costs (joint 100000 300000
cost)(0.25%4000005; 0.75%400000$)

Deduct ending inventory (5000 - -
gallonsx 4S per gallon; 45000

gallonsx4$ per gallon)

Cost of goods sold 80000 120000
Gross margin 80000 O




